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86-87 |(2) (o) To convert kilograms to groms, we multiply by 1000.
17.x 1000 = 17000
So, 17kg = 170009.

(b) To convert centimetres to millimetres, we multiply by 10.
128 = 10 = 1280
So, 128em = | 280 mm.

(¢) To convert kilometres to metres, we multiply by 1000.
2x 1000 = 2000
So, 2km = 2000m.

(d) To convert grams to kilogroms, we divide by 1000.
3000-1000=3
So, 3000g = 3ka.

(e) To convert litres to millilitres, we muyltiply by 1000
5 x 1000 = 5000
So, 51 =5000ml.

() To convert millimetres to centimetres, we divide by 10.
700-10=70
So, 700 mm = J0cem.

(9) To convert millilitres to litres, we divide by 1000.
9000 + 1000 = §
So, 9000ml = 9L

(h) To convert metres to kilometres, we divide by 1000.
30000 = 1000 = 30
So, 30000m = 3Qkm.
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‘(1) (@) acute  (b) reflex  (c) reflex

(9) obtuse (h) right

(2) (@) The sum of the angles in the triangle is 180" .
LBisanghtangle. ltis' 90 I°.

£C=180"-| 90" |- | 35" |
=(30°)- (357

=| 55% )
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76

1.25

(d) obtuse (e) right  (f) acute

(b) The sum of the angles in the triangle is 180° .
LQ=180"- 4% - 18
SEVRETS
= 1137

(€) The triangle is on isosceles tiangle. So, L5 = LT = 78" .

The sum of the angles in the triangle is 180° -
LR=180°- 78" - 78"
*002)-12%
= 247

(3) This triengle is on isosceles triangle.
So, LP=LQ
The sum of the angles in the triangle is 180°.
LP+LQ+LR=180"
LP+LQ=180" - 56°
=14
S0, LP=LQ=124"+2=62"
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Problem solving

AB is o straight line. The sum of the angles on a straight line is 180°.
LACD + £LBCD = 180°
£LBCD = 180" - 1527
=28°
ED is o stroight line. The sum of the angles on a straight line is 180°.
LEBC + LCBD = 180°
£CBD = 180" - 60"
=120°
The sum of the angles in the triangle is 180°.
LBCD + LCBD + £CDB = 180°
£LCDB = 180" - 28" - 120"
= 152" - 120°
=32°

(2)

2% Perimeter = Tdem
N0 Sum of widths = 24

2 x length = 50em
Length = 25em

12cem

- Let the length of the rectangle be x em.

~ So, sum of lengths = 74 — 24 = 50em
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196 M
Perimeter of rectangle =9 + 12+ 9+ 12
=42 em
12em
permetar - ﬁz Jem
- - w
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2 tm

perimeter=| 4 jom¢ 11 jom+ 2 iom+ B jom+ 2 om+ 3 ‘om

=30 Jen
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14m

Perimeter =4m+ 10m+2m+4m+6m+ 14m

=40m

perimeter = 40 'm

(3) (o) Find the length of side A. Show your working i the space below.

‘ Length of side A=8em + 4.5¢m — 2.5em = 10em

| 'o 'Im

(b) Find the length of side B, Show your working in the spoce below,

| Length of side B =85 ¢cm + &5em — 35¢em = 95 em

45 em

(c) Find the perimeter of the shape. Show your working in the spoce belaw.
Perimeter = 8em +85em + 45em + 45¢em + 10em

—

+95em+ 25em +35em =51em
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(1) (@) Find the length of side A.

L+2=6

(b) Find the length of side B
6+8=14

(€) Find the orea of the shope

Areo of rectongle 1 =4m x ém
= 2m’
Area of rectangle 2 =8m x 6m
=48m’
Area of shape = 24 m* + 48m’
=Mm'

14 m




